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EH ATHEATHE E B F| 80 E| o
(H) (H) (%) (%) "(%)" (%)
H & B3 H 266,851 250,452 -6.1 -6.7 -6.70 100.0
B # 67,297 64,076 -4.8 -5.3 -1.34 25.6
= £ 5,563 4,985 -10.4 -115 -0.24 2.0
pt I ] 5,185 4,885 -5.8 -11.4 -0.22 2.0
| ] 7,651 7,213 -5.7 -3.7 -0.11 29
L o 7] 3,552 3,104 -12.6 -12.9 -0.17 1.2
g x . B = 7,538 7,442 -1.3 -35 -0.10 3.0
g ) 2,344 2,448 44 5.3 0.05 1.0
Hm B - B K M 3,503 3,456 -1.3 -0.1 0.00 14
L) F 7] 5,138 4,635 -9.8 -75 -0.14 1.9
EL H B o 9,611 8,677 -9.7 -9.4 -0.34 35
-/ # 4,301 3,955 -8.0 -8.8 -0.14 1.6
i 7] 3,222 3,451 71 6.3 0.08 1.4
A B 9,688 9,823 1.4 0.6 0.02 39
* B 14,758 17,290 17.2 17.7 0.98 6.9
£ g ih 7 8,501 7,668 -9.8 -9.3 -0.30 3.1
R oim OB B - H B 6,257 9,622 53.8 541 1.27 38
* B - V/S E 17,714 17,909 1.1 -1.7 -0.11 7.2
g = 7t 8,590 9,000 48 0.3 0.01 36
H z ® 3,279 3,367 2.7 2.7 0.03 1.3
it 0} 3 E 663 671 1.2 -15.1 -0.04 0.3
+ T 7K & # 5,182 4,870 -6.0 -6.0 -0.12 1.9
x B - B = A & 9,608 8,441 -12.1 -10.4 -0.37 3.4
X E B W KX & 3,251 2,369 -27.1 -235 -0.29 0.9
E AN ¥ & ® i & 759 377 -50.3 -52.6 -0.15 0.2
B 1=} £ 490 625 27.6 25.2 0.05 0.2
£ k=3 bS] B 1,907 1,823 -4.4 -4.0 -0.03 0.7
X E A H B & 2,738 2,706 -1.2 2.7 0.03 1.1
X E H — E X 463 542 17.1 17.1 0.03 0.2
w R R U E W 9,256 7,993 -136 -11.8 -0.41 3.2
#0 AR 45 15 -66.7 -66.7 -0.01 0.0
% iR 3,769 3,424 -9.2 -7.6 -0.11 14
vy t — 42 — 5 1,807 1,361 -24.7 -185 -0.13 05
T & 7] 1,127 830 -26.4 -26.0 -0.11 0.3
& h . £ 7] 103 134 30.1 - - 0.1
it 0} #H i 661 641 -3.0 -4.6 -0.01 0.3
17} Y| ] 1,108 1,151 3.9 2.6 0.01 0.5
#w R B & Y —E X 637 438 -31.2 -31.1 -0.07 0.2
# & E 53 12,148 10,805 -11.1 -12.0 -0.55 43
E -3 o 2,090 2,102 0.6 1.8 0.01 0.8
7 B & A E B & 1,281 863 -32.6 - - 0.3
RREEERBR- - FE 2,965 1,738 -41.4 -41.4 -0.46 0.7
®rEgEE B Y —E X 5,812 6,102 5.0 1.9 0.04 2.4
R B - bt g 41,691 40,447 -3.0 -45 -0.70 16.1
X & 2,887 3,322 15.1 14.7 0.16 1.3
B 8 2 £ B % & 25,853 24,658 -4.6 -1.6 -0.74 9.8
G} g 12,951 12,467 -3.7 -2.0 -0.10 5.0
£ B 7,813 6,940 -11.2 -11.7 -0.34 2.8
= E 3 # % 6,258 5,629 -10.1 -10.1 -0.24 2.2
BHE - 2ESELHM 267 201 -24.7 -24.8 -0.02 0.1
# = # B 1,289 1,110 -13.9 -15.7 -0.08 0.4
2 E3 Y = 23,794 22,182 -6.8 -7.1 -0.63 8.9
B E IR E R W A B 1412 1,074 -23.9 -24.0 -0.13 0.4
H & B X A & 5918 5,312 -10.2 -9.5 -0.21 2.1
= fth @ N Rl % 2,635 2,383 -9.6 -10.1 -0.10 1.0
H B B B Y —E X 13,829 13,413 -3.0 -3.7 -0.19 5.4
0 D E B X H 62,770 54,369 -13.4 -13.9 -3.27 21.7
B M £y 22,622 19,920 -11.9 -125 -1.06 8.0
O W (ERRF BHE) 8,227 6,151 -25.2 -25.7 -0.79 25
X [ £y 22,363 18,379 -17.8 -18.3 -1.53 73
T % ) & 9,559 9,920 3.8 3.2 0.1 40
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